January 24, 2008

453 Wayout Rd
Dinkytown, MN

Applied Solutions

237 Pasteur Hall

Winona, MN

To Whom It May Concern,

I recently won the Big 6 lottery, and the lottery commission wants to know what type of payoff I’d prefer. The options (after taxes) they gave me are:

· Option 1: Receive $650,000 dollars on February 11, 2008 and nothing else ever again.

· Option 2: Receive nothing for now, but receive $1 million dollars on February 11, 2018.

· Option 3: Receive 10 yearly payments of $85,000 starting with the first payment on February 11, 2008 and the last one on February 11, 2017.

I have an investment fund that I can invest the money in at any point during the next 15 years which has a rate of 5% (compounded continuously). Which option is the best for me financially in the long run?
Also, my wife seems to think that the fact that we’re going to use the money to buy a house should affect our decision. We will be taking out a $300,000 loan with a 10% interest rate (compounded continuously) on February 11, 2008 to buy the house. Since my family has no other disposable income (i.e. the small amount I make working at the fish market is used to buy food, clothing, insurance, etc.), the only payments we’ll be able to make on the house loan will have to come from our lottery earnings. Is my wife right? Does this affect what’s best for us in the long-term? If so, what’s the best option then?

Thanks for all your help!

Sincerely,

Joseph Suerte

